SUMMER

CLASSITICS

®

Four leg X dining table base

ASSEMBLE INSTRUCTIONS

NO. Parts Total 1. Use the 4 (A) bolts to connect the top plate to the
| shatft.
A | M6x16 4
2. Use the 3 sets of (B,C,D) to connect the shaft to the
base plate.
B M8x35 3
3. Screw in the foot glides (E) into the base plate.
spring 4. Adjust the foot glides to ensure that the table is level.
C washer 3
M8 5. Place umbrella set screw (H) in the threaded hole in
5 washer s the shaft.
M8
adjustable
E glide 4
M8x12
F A M6 1
G M8 1
H M8x50 1
Step 2 ., :

-
0’.
o
.
SEssmmmmmEn



